
 

LOTUS EVORA GT/SPORT 410/GT410 SPORT/GT410 (17 - 21) CARBON FIBRE FRONT SPLITTER (SHORT/LONG) 
FITTING GUIDE  

PART #: R01SB0660, R01SB0661 

 

Document issued: 23/09/2022  Page 1/9 
© ReVerie Limited | Unit 2 Chandlers Row, Colchester, Essex, CO1 2HG | www.reverie.ltd.uk | +44 (0)1206 866663 | sales@reverie.ltd.uk 

 

FITTING GUIDE 
LOTUS EVORA GT/SPORT 410/GT410 SPORT/GT410 

(17 - 21) CARBON FIBRE FRONT SPLITTER 
PART #: R01SB0660, R01SB0661 

  
R01SB0660 R01SB0661 

CONTENTS 

0 KIT CONTENTS/TOOLS REQUIRED .................................................................................................... 2 

0.1 R01SB0660 .................................................................................................................................... 2 

0.1.1 TOOLS REQUIRED ................................................................................................................ 2 

0.2 R01SB0661 .................................................................................................................................... 3 

0.2.1 TOOLS REQUIRED ................................................................................................................ 3 

1 R01SB0660 FITMENT ........................................................................................................................... 4 

2 R01SB0661 FITMENT ........................................................................................................................... 7 

 

DISCLAIMER 

Although ReVerie Limited supply parts for use with/on vehicles manufactured by Lotus, ReVerie Limited is 
in no way connected to Lotus or any other affiliation and is entirely independent of Lotus. Accordingly, none 
of the products offered for sale or supplied by ReVerie Limited (nor any advice or service offered or 
provided by ReVerie Limited) are in any way endorsed by Lotus and has not tested or approved any such 
products or services. Accordingly, Lotus shall not under any circumstances be liable for any loss, claim, 
damages or any consequential, indirect or special damages whatsoever arising out of or in connection with 
the use of products sold or supplied by ReVerie. 

 

http://www.reverie.ltd.uk/


 

LOTUS EVORA GT/SPORT 410/GT410 SPORT/GT410 (17 - 21) CARBON FIBRE FRONT SPLITTER (SHORT/LONG) 
FITTING GUIDE  

PART #: R01SB0660, R01SB0661 

 

Document issued: 23/09/2022  Page 2/9 
© ReVerie Limited | Unit 2 Chandlers Row, Colchester, Essex, CO1 2HG | www.reverie.ltd.uk | +44 (0)1206 866663 | sales@reverie.ltd.uk 

 

0 KIT CONTENTS/TOOLS REQUIRED 

0.1 R01SB0660 

 Please check you have all the kit contents before proceeding with the installation 

ITEM ReVerie PART # QTY IMAGE 

Carbon Fibre splitter - 1 

 

M6 x 30mm CSK bolt R01SW6423 12 

 

M8 x 30mm CSK bolt R01SW6437 2 

 

M6 top-hat insert bush R01SW6339 12 

 

M8 top-hat insert bush R01SW6693 2 

 

0.1.1 TOOLS REQUIRED 

 No specialist tools required. Allen key suitable for M6 and M8 bolts 

http://www.reverie.ltd.uk/


 

LOTUS EVORA GT/SPORT 410/GT410 SPORT/GT410 (17 - 21) CARBON FIBRE FRONT SPLITTER (SHORT/LONG) 
FITTING GUIDE  

PART #: R01SB0660, R01SB0661 

 

Document issued: 23/09/2022  Page 3/9 
© ReVerie Limited | Unit 2 Chandlers Row, Colchester, Essex, CO1 2HG | www.reverie.ltd.uk | +44 (0)1206 866663 | sales@reverie.ltd.uk 

 

0.2 R01SB0661 

 Please check you have all the kit contents before proceeding with the installation 

ITEM ReVerie PART # QTY IMAGE 

Carbon Fibre splitter - 1 

 

M6 x 30mm CSK bolt R01SW6423 16 

 

M8 x 30mm CSK bolt R01SW6437 8 

 

M6 top-hat insert bush R01SW6339 16 

 

M8 top-hat insert bush R01SW6693 8 

 

0.2.1 TOOLS REQUIRED 

 No specialist tools required. Allen key suitable for M6 and M8 bolts 

http://www.reverie.ltd.uk/


 

LOTUS EVORA GT/SPORT 410/GT410 SPORT/GT410 (17 - 21) CARBON FIBRE FRONT SPLITTER (SHORT/LONG) 
FITTING GUIDE  

PART #: R01SB0660, R01SB0661 

 

Document issued: 23/09/2022  Page 4/9 
© ReVerie Limited | Unit 2 Chandlers Row, Colchester, Essex, CO1 2HG | www.reverie.ltd.uk | +44 (0)1206 866663 | sales@reverie.ltd.uk 

 

1 R01SB0660 FITMENT 

1 Raise front of the vehicle and support on jack stands. 

2 Remove existing front splitter/spoiler/under tray from vehicle; 

 

3 Place the 2x M8 CSK bolts into their retrospective M8 top-hat insert bushes;  

 

http://www.reverie.ltd.uk/


 

LOTUS EVORA GT/SPORT 410/GT410 SPORT/GT410 (17 - 21) CARBON FIBRE FRONT SPLITTER (SHORT/LONG) 
FITTING GUIDE  

PART #: R01SB0660, R01SB0661 

 

Document issued: 23/09/2022  Page 5/9 
© ReVerie Limited | Unit 2 Chandlers Row, Colchester, Essex, CO1 2HG | www.reverie.ltd.uk | +44 (0)1206 866663 | sales@reverie.ltd.uk 

 

4 Hold splitter up to the vehicle and bolt 2x M8 CSK bolts in place in locations shown; 

  

5 Place the 12x M6 CSK bolts into their retrospective M6 top-hat insert bushes;  

 

http://www.reverie.ltd.uk/


 

LOTUS EVORA GT/SPORT 410/GT410 SPORT/GT410 (17 - 21) CARBON FIBRE FRONT SPLITTER (SHORT/LONG) 
FITTING GUIDE  

PART #: R01SB0660, R01SB0661 

 

Document issued: 23/09/2022  Page 6/9 
© ReVerie Limited | Unit 2 Chandlers Row, Colchester, Essex, CO1 2HG | www.reverie.ltd.uk | +44 (0)1206 866663 | sales@reverie.ltd.uk 

 

6 Bolt the 12x M6 CSK bolts in location shown; 

  

7 Ensure all bolts are tight.  

8 Lower the vehicle to the ground. 

 

http://www.reverie.ltd.uk/


 

LOTUS EVORA GT/SPORT 410/GT410 SPORT/GT410 (17 - 21) CARBON FIBRE FRONT SPLITTER (SHORT/LONG) 
FITTING GUIDE  

PART #: R01SB0660, R01SB0661 

 

Document issued: 23/09/2022  Page 7/9 
© ReVerie Limited | Unit 2 Chandlers Row, Colchester, Essex, CO1 2HG | www.reverie.ltd.uk | +44 (0)1206 866663 | sales@reverie.ltd.uk 

 

2 R01SB0661 FITMENT 

1 Raise front of the vehicle and support on jack stands. 

2 Remove existing front splitter/spoiler/under tray from vehicle; 

  

3 Place the 8x M8 CSK bolts into their retrospective M8 top-hat insert bushes;  

 

http://www.reverie.ltd.uk/


 

LOTUS EVORA GT/SPORT 410/GT410 SPORT/GT410 (17 - 21) CARBON FIBRE FRONT SPLITTER (SHORT/LONG) 
FITTING GUIDE  

PART #: R01SB0660, R01SB0661 

 

Document issued: 23/09/2022  Page 8/9 
© ReVerie Limited | Unit 2 Chandlers Row, Colchester, Essex, CO1 2HG | www.reverie.ltd.uk | +44 (0)1206 866663 | sales@reverie.ltd.uk 

 

4 Hold splitter up to the vehicle and bolt in place in 8x locations shown (start with the middle four 
followed by the front two then finish with the rear two); 

  

5 Place the 16x M6 CSK bolts into their retrospective M6 top-hat insert bushes;  

 

http://www.reverie.ltd.uk/


 

LOTUS EVORA GT/SPORT 410/GT410 SPORT/GT410 (17 - 21) CARBON FIBRE FRONT SPLITTER (SHORT/LONG) 
FITTING GUIDE  

PART #: R01SB0660, R01SB0661 

 

Document issued: 23/09/2022  Page 9/9 
© ReVerie Limited | Unit 2 Chandlers Row, Colchester, Essex, CO1 2HG | www.reverie.ltd.uk | +44 (0)1206 866663 | sales@reverie.ltd.uk 

 

6 Bolt the 16x M6 CSK bolts in 16x locations shown; 

  

7 Ensure all bolts are tight.  

8 Lower the vehicle to the ground. 

 

 

http://www.reverie.ltd.uk/

